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KtV =3¢ (Daugirdes) = - Ln((B/A) — 0.008*t) + ((4 - 3.5*(B/A))*(UF/W))
Kt/'V =3¢ (Gotch) = Ln((A/B)
URR 2 3¢ = (A-B)/ A
nPCR = 5.42*((C*10 - B*10)/E) + 0.17
TACUrea = ((A + B)*D + (B + C)*E)/(2*(D + E))
517 (PD) e % = 3
Al : BUN(mg/dl) Bl : s 9~k FH(mg/dl)
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45 A =(BWO®*BH%'®*71.8 /10000)°°

TBW
+ 1 TBW = 0-2.097+0.2466*BW+0.1069*BH

§ @ TBW = 2.447+0.3362*BW+0.1074*BH-0.09516* = #

KTV1=(E1/A1*C1*7)/TBW e KTV

KTV2 = (F1/A1*D1*7)/TBW AT e KTV
KTV3 = KTV1 + KTV2 B A KTV
CCR1=G1/B1*C1*7 27 CCR
CCR2=H1/B1*D1*7 A% 7 e CCR
CCR3 =CCR1 + CCR2 #4e CCR
NCCR=CCR3/ %4 & f# *1.73 &% i 2 4c CCR

NPCR = (10.76*(((C1*E1*10+D1*F1*10)/1440)+1.46)) / BW
UNA = (C1*E1/100)+(D1*F1/100)

PNA =10.76*(0.69*UNA+1.46)

NPNA = PNA / BW



